—_ =
TS 0 0 9Oy AW — G

N DO DO DN DN DN DD — /= = = e
N AW — O O 00N DR W

ENS Il
BARFTELE-BEE LRSI R -HA - A5
BAAEE-AEE L2 LI =FR - A
AP - R A I R - A
BAFTHEE- R E R AR LI =4 -4h
BRATEE-RBEE AP LI =R -4A

4
H
Aordd
A3l
Aoyl

2t e
111 BB R B i EE 22 o,
& T N B TEE SR BUCRA S 25

S
—
—
— Rk
—
—

BAFTAAE - B E M EGT R RS2 DI T FER - Aos ek

BR B FTE A - FRE SR B PR AR 2 BB AR AR - 4H
BB FTE A - R S B PR AR 2 B 3T — SRR - 4H 5
BAFTEL - BTREE LRSI R -HA - A5
BRAFTEE - R SR 2 LI -4l
BAFTEA - BRI -4 - A
BRAFTEL - SRR AP I =8 - A+ SRR

il
P Ay
4

A orél

par |

i
ik
— ik
— s
i
ik

BRAFTEL - EFY B L2 A E T -4l - A oreE— ek
BAFTEAE - FERYE B LR AT TV = -4 - A odE ik
BRI A - R E A Y B R R LI AR - - A — Rk
AT A - R E A B R A2 LI =8 -HA - A —fkd

BHAFTEE - LTI R -4 Ao

BAFTEE - B LS T =R -4 - A0

HEREE-BEERE L T FR -0 - Ao

BAFELE - EE LRSI =8 -HA - A5
BRAFTEE - RS R 2 LD R -4
BRAFTEE - B R A 2 LI = -4l
B AP A - K BEE R AR AR -4
BAFTEA - K RESE A2 -4
BAFTEE K EESR LI -4
BAFTELE K EEHR LI R -4

4H

RS
=R
WK

KA

HERE (B
HAN=IH

— ik
— s
i
ik
— ik
— s
i
ik
— i
— s

X

UN

O = W A A= N A

[\
o

O O O O O O M~ O b= L O W W

Wl
NEL

S O = A A = O =

[\
o

O O O O OO DO LW DO L =N O W W

B )
UN 4

O O — A LW O = A

—
O

O O O DO OO DO WO DL =D O W W

ALt
NEL

2
2
8
7
1
1
1
3
1
3
1
4
2
3
5
6
4
1
1
1
1
1
1
1
1
1

HET
BRECR

50.00%

100.00%
100.00%

33.33%
25.00%
100.00%

15.7%%
14.29%
100.00%
06.67%

100.00%
100.00%
80.00%

33.33%

IEHY
UN 4

O O O O OO OO OO OO OO OO0 OO0 OO0 o o o o oo

fHEL
UN 4

el el ool ool o ool ol ool ol oo ol ool ool ol oleo ol ol ©)

it



2t e
111 BB R B i EE 22 o,
& T N B TEE SR BUCRA S 25

T wy mmgs pE ot ER AW

FE ZFR4A R RS Te  AB A AB sHE A A% ey
27 BEAFTEA - /K LEBNEE 2 BB A = AR -4 ¢ K —f 0 0 0 1 0 0
28 B AP - /K LAEEHEE 2 BT = AR -4H A1 ¢ R — A 0 0 0 1 0 0
20 BZFTEA K BIEFE 2B P =AF -4 EEREGRel) i 0 0 0 1 0 0
30 BEZFTHEA - /K HEENE 2B A PE = AEAR-4H R - BN =TH —fE 0 0 0 1 0 0
31 BEAFTHEA - RSB 2B R -4 - A — 1 1 1 1 100.00% 0 0
32 B ZPTHEA - EB B0 2B AR - 40 ¢ FESTAES) —fE 1 1 1 1 100.00% 0 0
33 B AT - AEENEAITER 2 BB T ARAR -4 - AR R —E 0 0 0 2 0 0
34 BEAFTHE4A - IREESEHE 22 - T FER -0 - o Rk 19 17 17 5 29.41% 0 0
35 EAHE4-KEESEHE 22 P = FR-4H7 - Ao &k 6 6 6 4 66.67% 0 0
36 HEAFTHA - EE ARSI AR -4HR © A rd —fE 5 4 4 2 50.000 O 0
37 BEZFTHAE - R R AP = AR -4 - R rd —E 0 0 0 2 0 0
38 BEZFTHOA -HR g A R B TR S BB D AR - R — R 7 6 6 3 50.006 0 0
39 BEAFTHEA - EEKSESETHE RS2 LI =44 - - A0k 0 0 0 2 0 0
40 H AT - EFE R AR -4HR - A rdl — 1 1 1 1 100.00% 0 0
41 BAPTEE - AR AP =4k - 40 - R oral —E 0 0 0 4 0 0
SEEIEREE 1 95.92% &t 116 101 98 94 0 0



